Guía Turistica LGBTQ+ Tourist Guide

Buide VALLARTA

Media Kit



Print - Web - Mobil - S. Media | www.gayguidevallarta.com | www.gpvr.mx |





Contact us for more information!

Sales/PR:	Isaac Carachure
322 173-3357	isaac@gayguidevallarta.com

<u>Admin/Editor:</u> "Joey" J. R. Martinez 322 117-9479 joey@gayguidevallarta.com



- 7) Dot on the online map
- 11) Tags

Online Banner Ads

Reach more visitors to your website with banners bigger than the standard sized. They are randomly displayed on category pages. FREE for Standard & Premium plans!

Exclusive banner placement on top of category pages. (Subjet to availability)

Home page\$2,187.50Category pageWith print ad \$600 / No print ad \$1,000 (includesbasic plan for the duration of your banner ad.Rotating Banners\$500 pesos

Price p/month, includes IVA.

Horizontal Banner 150pix. H. X 950pix. W

400pix H. X 180pix. W.

Print Advertisement

	Edition	Distribution	Reservation Deadline	Art Deadline
4 editions	Fall	Octuber - November	28-Aug	01-Sep
a year	Winter	December - January	28-Oct	01-Nov
a year	Spring	February - March	28-Dec	01-Jan
	Summer	April - September	28-Feb	01-Mar

12k copies per editon, distributed with major focus in *Zona Romantica*. That's 48k copies a year! We distribute 1,400 copies weekly during high season, & 700 copies during the summer months. It is a highly sought-out guidebook by the LGBTQ & Ally visitors and businesses all around town. We are welcomed with excitement in many establishments in Centro, Malecón, Zona Hotelera & Marina Vallarta. This assures your ad will be at the hands of guests that are staying outside of the gay zone.

	Prices	Contract 1 Edition	Contract of 2 Edition	Contract of 3 edition	Yearly Contract (4 Editions)
	Print Advertisement	Black & White or Color Ads	5		
	1/4 page	\$2,350 p/ed.	\$2,250 p/ed. \$4,500 Total	\$2,150 p/ed \$6,450 Total	\$2,050 p/ed \$8,200 Total
	1/4 page on map	\$3,150 p/ed.	\$3,050 p/ed \$6,100 Total	\$2,950 p/ed \$8,850 Total	\$2,850 p/ed \$11,400 Total
Standar	1/2 page	\$3,650 p/ed.	\$3,450 p/ed \$6,900 Total	\$3,250 p/ed \$9,750 Total	\$3,050 p/ed \$12,200 Total
	Full page	\$6,550 p/ed.	\$6,150 p/ed \$12,300 Total	\$5,750 p/ed \$17,250 Total	\$5,350 p/ed \$21,400 Total
	Full page bleed	\$6,950 p/ed.	\$6,550 p/ed \$13,100 Total	\$6,150 p/ed \$18,450 Total	\$5,750 p/ed \$23,000 Total
	Premium	\$7,950 p/ed.	\$7,550 p/ed \$15,100 Total	\$7,150 p/ed \$21,450 Total	\$6,750 p/ed \$27,000 Total
Premium	Inner cover	\$8,450 p/ed.	\$8,050 p/ed \$16,100 Total	\$7,650 p/ed \$22,950 Total	\$7,150 p/ed \$28,600 Total
Pren	Full page on Map	\$12,800 p/ed.	\$12,400 p/ed \$24,800 Total	\$12,200 p/ed \$36,600 Total	\$11,800 p/ed \$47,200 Total
	Back cover	\$12,800 p/ed.	\$12,400 p/ed \$24,800 Total	\$12,200 p/ed \$36,600 Total	\$11,800 p/ed \$47,200 Total



Contracting print advertisemente does not include the ad design.

- \$1,500 pesos per design
- \$ 600 pesos per modifications / edits

Advertisement on Social Media

Weekly Post of images, reels, & video clips of your business/product on Gay Guide Vallarta's social medias. IG, FB, YT, X.

Prices listed below are per month.

 * contracts per month, 3 months, 6 months or yearly. *

<u>Silver</u>

- **1 post per week = 4 Post per month S1** - \$ 800 pesos : 4 images **S2** - \$1,900 pesos : 3 img and 1 reel
- **\$3** \$4,700 pesos : 2 img, 1 reel & 1 Vid.

Platnum

3 post per week = 12 Post per month P1 - \$4,600 pesos : 10 img & 2 reels P2 - \$5,700 pesos : 9 img & 3 reels P3 - \$9,600 pesos : 7 img, 4 reels & 1 Vid. Length of tiktoks may vary from 15 secs to 1 min. Videos are 1 min to 3 min. 30 sec.

<u>Gold</u>

<u> 2 post per week = 8 Post per month</u>

- G1 \$2,700 pesos : 7 img & 1 reel
- G2 \$3,800 pesos : 6 img & 2 reels
- G3 \$6,600 pesos : 5 img, 2 reels & 1 Vid.

Customized

Build your own plan: 1 - 3 posts a week

\$ 200.00 pesos Image
\$1,300.00 pesos reel 15 - 30 sec
\$3,000.00 pesos Video 1m - 3:30 min.

Sponsored Videos



-1			425		Boost Post	
People Reached E		igagements		0311-031		
008	You and 3	6 others	10 Comm	ents 13 Shares 1	.7K Views	
┢ Like		💭 Comment		⇔ Share	•	

Become a Sponsor!

Mentiones and Banner ads during a live stream or prerecorded videos.

Our purpose with this is to promote and show the travelers Puerto Vallarta's diversity in culture, gastronomy, activities, etc.

<u>Videos</u> are the "New Thing" dominating the digital community replacing text only content & they <u>connect better with the audience</u>.

Contact us for Mantion & Banner Rates / Sizes

Mention Mentioned by the host once (1) during a video or Live (name & slogan). Banner Showed once (1) during a video or Live for 10 sec.

Banner y Mention The banner will be displayed as the host talk about the business &/or the content of the banner. 10 - 20 sec.

Comercial clip A Display a clip of images or video promoted by the host, comercial of 10 - 20 seconds of the business/product.

Comercial clip B Display a 10 - 20 second comercial of your business/product.

Packages (Anual Contracts)			
Package 1	Package 2	Package 3	
- 1/2 Page color (\$3,050 x 4 = \$12,200)	- Full Page color (\$5,350 x 4 = \$21,400)	- Bleed Page color (\$5750 x 4 = \$23,000)	
- Silver (S3) (\$3,200 x 12 = \$38,400)	- 1 Exclusive Web Banner in a category page (Sub- ject to availability) (\$1,000 X 12 = \$12,000)	- 1 Exclusive Web Banner in a category page (Sub- ject to availability) (\$1,000 X 12 = \$12,000)	
- 1 Banner in 2 Gay Guide Vallarta Vid- eos (2 x \$1,000 = \$2,000)	- Gold (G3) (\$3,600 X 12 = \$43,200)	- Gold (G3) (\$3,600 X 12 = \$43,200)	
	- 1 Banners & Mention in 3 Gay Guide Vallarta Vid- eos (3 X \$1,500 = \$4,500)	- 1 Comercial Clip A o B en 3 Gay Guide Vallarta Videos (3 X \$2,500 = \$7,500)	
\$52,600	\$72,100 \$50,470	\$85,700 \$59,990	

Package 4

- Premium pages, Inner covers, Back cover & Map Premium				
A) Premium (\$6,750 x 4 = \$27,000)	- 1 Exclusive Web Banner in a category page (Subject to availability) (1000 X 12 = 12,000)	A) \$121,100 \$84,770		
B) inner covers (\$7,150 x 4 = \$28,600)		B) \$122,700		
	- Platnum (P3) (5,800 X 12 = 69,600)			
C) Back cover y Map premium (\$11,800 x 4 = \$47,200)	- 1 Comercial Clip A o B in 5 Gay Guide Vallarta Videos (5 X 2,500 = 12,500)	C) \$141,300		
	(5 X 2,500 = 12,500)			